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PART A
Answes the Inllmnnp questions
' ‘ ] \“l”""a ”"_ ""Il'“nl",‘l“' I( (W3S fl Lin ”
st cos
1
2) !mulwumi\gl!l‘) ; | I , l
i }' ,.
Yo the value o 10" cau 450 “in 40" <in 45"
4 Maina compute con A and tan A
iy
5) Find l‘ iy /
iy R
6y Tind oy, :
iy 'R
7Y Vvaluate x4 x4 v 4 8)
) Inteprate [oos (2 740
D) WAL Dyand BC2 1 find the distance between two poInts

10) Find the median of the obseryvation

1.7, 325 6 K
PART B
1619 13
1) ) Find the value 15 1R 12
11 17 11
by Solve by using Cramer s rule
R S MY SR | U J PR J
OR
0 2 3 76 .
oyt A l" ' &R ‘ ’ N then find A - B
o1 4 1 )
12 3
¢ Find the mverse ot matnx |21
|

JEATALITR]

20145
Marks 80

2x10=20

PTO



12} a)Prove that, cotA —tand = 2ol 2A

X wn # fa sl A .
) Prove that, , 221 =2 cosec @
B ESLEL sin ¥

OR
S Prove that, cot A — cosec 24— cot 24
DA RO 00 then prove that CotA 4 cotB + cotC = cotA " cotB ot
P30 ayDiflerentiate, v -y’ by o Sowath respect to

! dv a - St
Wmd 5 wheny o Inoan () -) with respect to x
X | ;

OR

¢y Inflerentate, v \"'w_\.( Ju 4 1) with respect to x

3

1y

oy v
O hind =5 when v o with respect 1o
{11 Insiny

147 a) Fyaluate (5 4 7xf 4+ 10)da
byInteprate [+ e dx

(R34

¢) Evaluate [(5 tan‘x dx)

d) Evaluate [ (20 4 1D)(x = 2)da

15) ) Solve the following simultaneous hner equation
Sx + 2vy+2-0
Svodv o0
b) Show that the pomnts (0, -1), (-2, 3), (6, 7) and (8, 3) are vertices of a rectangle

OR

¢) Show that the points A(-1,4), B(0, 2) and C(2, -2) are colhnear

Jd) Find the mean of the following distnibution

o S

Frequency 1| 7 [ M 36 | 25 | 6 1
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BARGARYy g, ., VPIAN INSTITUTE OF HANDLOOM TECHNOLOGY
TUWA} IATUFULIA/XC DHPUR/SALEM/VARAN AS/CHAMPA/KANNNUR/KHTI GADAG/SPEM VENFKATAGIRI

DIPLOMA IN HANDLOOM AND TEXTILE TECHNOLOGY
SEMESTER EXAMINATION - NOV/DEC-2017
. (2011 REGULATION)
E il
HO:IESTER : | SEMESTER
'S :3 Hours Max.marks:80

Subj
J¢ct Code & Name: 1.2 APPLIED MATHEMATICS

PART - A
Answer the following questions, 2x10=20
1) Evaluate the determinant I g 42|
2) IfaA=[3 2 _[2 2
[1 4] and B ﬂ[l 3], then find A+B

3) Ifsing= % , compute cos A and ran A.

4) Find the value of sin 75°.

5) Find 2 ify =+ 5¢

6) Find 2 ify=yZx +1

7) Evaluate: [3x2 gy

8) Integrate : [sin 3x dx

9) IfP(3, -1)and Q(-1, 1) find the distance between two points.

10) Find the mode of the data
5,3,4,8,4,3,4,8,2,6

PART - B
4
11) :1)Solve=|3 x:—l|=5 4
b) Solve by using Cramer’s rule. g
2x+y+22=2 3x+2y+z=2,x+y+3z=6
OR
[ - (4 2
oif A=[; 5] &B=[% %]thenfindAB 4
2 1 2
d) Find the adjoint of matrix (2 2 1 .
- 1 2 2

P.T.O.




12)

14)

15)

[

) cosf 1+siné
a) Prove that, —_— ——
1-sinf cosh
1~ cosf .
b) Prove that, ,-———- = cosecB — coth
"1+ cos8
OR
+ 2A
¢) Prove that, _Sind+sin2? _tanA
© 14cosA+cos2A
2 1-3in#&
d) Prove that, (secf —tanf)” = -

a) Find the derivative of x? + 2x —sinx +5wrt x

x

b) Find % ,where y = xsinx-

1+x2
OR
¢) Find the deri vativeof (x24+ 2x — 1) wrtx
d) Find % , where y=+/sinvx
a) Evaluate: [ x(x —1)% dx
b) Integrate: [ x2 e* dx
OR

c¢)Evaluate: [(3x3 — x24 5x+2)°

d) Evaluate:f&g—:z?::—m dx

a) Solve the following simultaneous lirer equation
2x+3y-8=10
x+y-5=20
b) Show that the tnangle with vertices A(-3, 1), B(S, 4) and C(0, -7) 1s isosceles.

OR

c) Show that the points A(-1, 4), B(0, 2) and C(2, -2) are collinear.
d) Find the mean of the folowing grouped frequency distribution.

Marks 0-20 | 20-40 | 40-60 | 6080 [ 80— 100

Number of Students 7 11 10 9 13
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INSTITUTE OF HANDLOOM TECHNOLOGY
BARGARH/ FULIA/ GUWAII:AQIIJ?(}?)}@UR/ SALEM/ VARANASY CHAMPA/ KANNUR/KHTI, GADAG / SPKM IIHT VENKATAGIRI

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
I SEMESTER (BACK PAPER) EXAMINATION ~ NOV/DEC-20135

1.2 APPLIED MATHEMATICS |
Time : 3 Hours : Max. Marks:80

PART A

Answer the following questions =" (2x10=20)

1. Find the value of the determinant |g _43| =0

1
2

N

_ -1 12 3 .
If A= [ 1] ,B= [_4 5] then Find AB
3. Find the value of 2S5in15Cos 15

4. If A+B+C = 180, find the value of tan(A+B)

s.0f y = % find <

6. Differentiate log(x3 +1) with respect to x

. Evaluate: [(x+1)3dx

~

. Evaluate: [ Sec2x tan2x dx

o]

9. Find the distance between the points P(3,2) and Q (-2,-3)

10. If the arithmetic mean of data 7, 8, x, 11, 14 is x then find the value of x

Page 1of 3




PART =1\
Answer the following questions

L(a) Show that

Vb 1] 1 . '
b vdb b « xt(datbio)
¢ ¢ Yo
(4)
L{b) Solve the following simultaneous equations using Crammer’s rule,
Vb 2y 4 b w4
Xyl demb
v vz d (#)
OR
0 i I Al
1.(c) Ill\«l 1 I| £y ) Il thenverify that (AD) = IV A
|
(4)
10 2 3 i ba )
- . u | me [ )= A i
L) 1A I'I !‘,I and If, ,/] then show that (AB) {] (1)
2.(a) Prove that (St 45 1 A) Sin (45 — A) = L84 (4)

Cav A Cov tA
2 [ =t ]
(h) Show that YY) tan 2 A (1)

On
tov(A I . = B
2.(cp Cor (ALH) A then show that Cot A Cot By =2 (1)
2(d) WAMC=180, prove that
CotACotlt 4 CotlCot C 4 Cot Cot A 1 (8)
3.(a) Differentiate v o x* Sinx with respect to x (4)
i ) ' - d‘l
by y = YTy then tind o (8)
OR
dy
Jfc) If y vm "V tan e, find o (1)
-
3.(d) Find the differential co-etficlent of J;:L: (8)

Page 2 of 3



4.(a) Evaluate : ffll%ﬂg dx (4)
x dx
4, [ g
(b) Evaluate : [ T (8)
OR
4.(c) Evaluate : [(3x + 2)* dx (4)
4.(d) Evaluate : [ L dx (8)
1+Cosx
5.(a) Solve the following simultaneous linear equations:
8x+5y=9
3x+2y =1 , (4)
5.(b) Prove that the points (1,0), (-1,0) and (0,4/3) form an equilateral
triangle. (8)
OR
5.(c) Show that the points A(3,0), B(4,5), C(-1,4) and D(-2,-1)
form a Rhombus. (4)
5.(d) Find the Mean of the following frequency distribution :
Classes 0-20 20-40 | 40-60 | 60-80 | 80-100
Frequency 7 11 10 9 13
(8)
’ LEEE 3 2

Page 3 of 3
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LoAnswer all questions \( st /b S
BN faeinrg
3 X - \ Y "_ 1
1. fnd Ndf % N2 “ \_.‘q;.!;‘.‘; (!
\ \

[F LY

2N A= [\ 2 ‘] - \‘\ ‘ 1‘] Find A 2R

Tk

Cfind the value of  tan AN tan A
Lo tand A taniA

P

. 3 ?
CHSin A= X andCos = ‘n find the value of Sin (AR

S Afy= "3 find ::

6. Differenttate Singany & 1Y) with regpect tox

7. tvaluate . |secividy

o6

CBvaluate [ aada

o

rind the distance between the points Pla 0) amd O (01)

10 1f the Arithmetic Mean is 24 and Mode [s 12 Find the Median
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Answer the following questions

1.(a) Show that

i | 1
x y z =0
Y+z z+4+x xX+y

(4)

1.(b) Solve the following simultaneous equations using Crammer’s rule.

X+2y—z =-3
X+y+z =4
X— y+2z=6 (8)

OR

-3 1
2 1 3 -1 2 3
1. IfA = = =
(c) IfA [4 = 2] , B [g ;] and C [0 3 2] then
verify that (AB) C = A(BC)

(4)
_[9 4 5 -3 1_ el a1 )
1.(d) IfA= [6 3] ,B= [_4 3 ] Show that (AB)?= B2 5 (8)
2.(a) 1f A+B =45 Pprove that (1+tan A) (1+tan B) =2 (4)
Cos3 A
2.(b) Show that toeh = 2Cos24 -1 (8)
OR
2.(c) Provethat Cos 20 Cos 40 Cos 80 = H 4)
d) Show that SL34+Sina ey
(d) Show that Cos A+Cos 34 ~ = (8)
3.(a) Differentiate y = (x2 + 1) Cos x with respect to x (4)
8x+5 dy
=-—— thenfind =
3.(b)If y 7z thenfind == (8)
OR
3.(c) Find the differential co-efficient of log (x% + 2x) 4)

Vx+ logx dy
1

3.(d) ify = Pl ind o

(8)

A
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oa) Evaluate: [(x — 1)(x + 3)(x — 3)dx (4)
4.(b)-Evaluate : [ x e*” dx (8)
OR
‘:; VN‘"‘I“J
a.(c) Evaluate : | (Sin x + Cos x)%dx &: %ﬁg‘j I (4)
QT
x dx
4.(d) Evaluate : f = T er (8)

5.(a) Solve the following simultaneous linear equations:

3x+2y=11
2x +3y =4 (4)
5.(b) Prove that the points (2,-2), (-3,8) and (-1,4) are collinear. (8)
OR
5.(c) Show that the points A(1,7), B(4,2), C(-1,-1) and D(-4,4) are the
(4)

vertices of a Square.

5.(d) Find the Mean of the following frequency distribution :

Classes 0-8 8-16 16-24 | 24-32 | 32-40
8 8

Frequency 5 9 10

(8)

AR RERRE RN
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INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY

R ARGARK FUL LA GUW AHA TTJODHPUR SALEMAVARANASTCHAMPA/KANNUR KHTLGADAG/SPKMIIHT VENKATAGIRI
N DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY

FIRST YEAR (REGULAR & BACK PAPER) - APRIL/MAY-2016
1.2 - Applied Mathematics

e 3 His Max Marks: 80
PART A
L Answer the following questions: (2x10=20)
P - . . cos@ sinb
&) Find the value of determnant I g
sinf cosé
. n o ;
d2x vi 4 218 3¢
b 1§ [ J [ } ~[“ | find x and y.
{37 =11 2
- <
" . cos30%+ sins0®
<) Find the value of —332 1_STEY
1+ cose0®+ sin30
d) Find the value of 8, 25in 28 =3
Lo Y8 - dy
) iy =(+3) find —.
o ) dx
N Differentiate : y/logx with respect to x.
) Integrate: [ 3% gx.
(hy Evaluate: .l“ (x® + V1) dx.
iy Find the solution of equation X +y =3 and 2x-y =0
PART B
I Answer the following questions.
. 1 0 —_‘l \ [4 -1 3] - [2 ~3 O]
. £ A = | . = : =
a) IFA b o3 B 0 2 1 and € . 1 s “4)
Then find A =3B +2C
b) Solhe the following using Cramer’s rule (8)

N

+Jz =12

e

‘id Vg

+
n
J

s/
¥

i

>
4

[

i

1
/
4
‘e
4
”
>

~}  Find AB and BA, where A = ll 2] B= [ 5 ‘2]
< 1 R y 5 © X 5 )
3 -2 3
d) Find the mverse of matrix, [2 1 _ 1]
4 -3 2




@ a) I 16 cot A = 12, then find the value ofs_m Af(:mﬂ' (h
SIMA-cos A
(8)

Cc nA -sin A
b) Prove that, = = 220 e 2A - tan 2 A
cosA+s|nA

OR
¢) If (A+B) = 45", Prove that (1+tan A) (1 +tanB3) 45" (1)
d) Prove that, cotA - cosec 2A — cot 2A (8)
V. a) Ify =+/x (\/— + 1) then hnd o (4)
. A
b) Differentiate, tan ( ; 1 ; With respect 1o . (8)
~ P
OR
\ﬁm :: then find - —; (1)
) Differcintiate, £ 95Xy, respect to x. (8)
1-sinx
Vo d) Evaluate { 5tan? xdx (‘D
by Eviduate: fz(Z.\' 1) (x - 2)dx (%)
-1
OR
- cos \
_‘C) Evaluate: I;TIS N dx (4)
) Fvalaate: f,xz Ssinax dx (¥)
VL a; Sob ¢ the following simultancous linear equations. (4
3x 2y =10
Ax-3y =2
b) Show that the points (3, 2), (0, 5), (-3. 2) and (0z1) are vertices of a square. (8)
z a 3 OR " - b \©
¢) Prove that the points (7.2), (1. -2) and (-2, 4) are collinear. ”2 ‘ o (1)
>\ Qe
d) Find the median of the following grouped frequency distribution, (&)
Marks 0-10 10 - 20 20 -30 3040 40 - 50 50 60
No. of students 6 8 14 16 4 2

O Cg (’V&)

er————
>
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INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY

BARGARH FULIA/GUWAHATIE JODHPUR SALEM VARANAS CHANPA FANNUR KHTHGADAG SPRMIH [ VENKATUIRI

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY o
FIRST SEMESTER (OLD SYLLABUS BACK PAPER) EXAMINATION — APRIL/MAY-2016

1.2 APPLIED MATHEMATICS
Time: 3 Hours Max. Marks: 80
PART-A R
Answer the following questions. 2210=20
-3
1

e . . 2
1. @) Find the value of delcrnnnuml

S 1 -1 4 2 .
) nA:[ |5 < then find AB
) 2 3 1 -2 l\u nu“ {,
¢) Find the value of Sin 60".Cos 30"+Cos 60".Sin 30
, %
A Evaluate: ‘\’_)537
< sins3¥ “
) Iy =x"-5x find q‘\—
° P Differenciate. (x-3)” with respect o x
’ g) Integrate: f(.x‘" + ¢ 4 5xy)dx ,
' ; 1 {
“hEvaluate : [ ——dx.
4 X v
1 LetA(5.-2)and B (6.2) then find |AB]. ( (
j)  Find the mode of the data
/o 4.5.6.7.6.7.6.5.
PART B
2. Answer the following equations: 4
- sin®®  cos‘6 1
S A
—-10 12 2

)y&»ﬁha the /ollowing equations using cramer’s rule, {a 8
X +2v+32=0

On+dvT =7

3a+ 2y +9z2- 14

OR
1 2 3 1 2 3 ]
) IfA=]6 7 B8landB=]3 4 2 then verify that (AB]' = B'A' 2 4
. o v
6 -3 4 6 o
172 3 4 é’/ﬁ, ©
d) Find the inverse of matrix |21 1 . A . ’ A g
11 2 M2 N é
N oA /'V
siné » ) ﬁ . b
3. a) Prove that ‘1-_":3;—(? ) cosee @ +cot O 0 @Z\, 4
veave that 1278508 cac 0 -1 N
b) Prove that, o Se¢ 0-tan0 Q
, OR Q.
i Show that . :”jﬂ; ::l”: cos 2A A \ 4
) HWASBC - 180 prove that \'5_73 }& /
v o COLACOLB +CotB . CotC +CotC .CotA=T . =
. p y (‘R“ 1
| /o Q
v ! g / '\'0 ‘
X 570\
-9



e e T Y then i 9
-J/zi) Ify=ySec (2x + 1) Fth find =,

. i Yoy em?
b) lef@l'dlllli]t@%'j-c-l—

with respect to x. ©
OR (
S . A dy
<« 1 v=1In(e™ + ™) find _1—‘{
i

,3x?

with respe
InSinx pectio x

yd OR
S/E\'ulualeféwx:‘(x +5%)dx
D) l?\raﬁluateof‘,(&x?’—SA‘Z + 6x)dx Sb
/. -

/ OR
\c)/{'aluate [Sec?ax dx

‘_‘d} Evaluate [ x2e® gy
6. ) Solve the following simultaneous linear equations.
IN=7yv=-10

OxTy =3

) Différentiate

-—

b) Show that the points (0. -1), (-2, 3), (6. 7 ) and 8. 3) are vertices of a rectangle.

¢) Ifthe distance between the points (3. a) and (6. 1) is 5. find the value of a.

\d/)find the mean of the following grouped frequency distribution.

Marks 0-10 10 -20 20 =30 30 - 40
No. ol Students 6 12 18 9

PRI R
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Rian INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY
W HARH/FULIA/GUW AHATVJODHPUR/SALEM/V ARANASVCHAMPA/KANNUR/KHTI GADAG/SPKM [IHT, VENKATGIRI

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
FIRST YEAR (2014 REGULATION) EXAMINATION - NOV /DEC -2016

Time - 1.2 APPLIED MATHEMATICS
€ : 3 Hours Max Marks - 80
Q.1 PART - A
%+ Answer the following questions 02x10=20
x 2| _ |6 2
a If | X | = 8 | . then find x
b. Find the value of x, y and z from the following equations.
x+y 2 ] _ [6 2]
5+z xy S5 8

tan25°+tan20°
1—-tan25° tan20°®

¢. Find the value of
d. Express in the form of a product | sin48 + sin26

. d b
e. Find Zy if y=(9vx +x%)

x

e .
with respect to x.
nx

f. Differentiate :
g. Integrate : J (sinx + cos x) dx

h. Evaluate: f:/‘secz xdx

1. Find the solution of the equation: x+2y=4 and x - 2y=0

J. Find the mean of the first six prime numbers

PART -B
Q.2. Answer following quesgons. 0 N 0 o
a wa=[]  .B=[] %] and S o4

Verify that A+ (B+C) = (A+B) + C

b. Solve the following equations by using CRAMER’S Rule
Tx +3y—-4z=6 08
2x -5y +6z2=3
xty+2z =4
OR
¢. Find AB and BA, Where o4

WERIY

d. Solve the following equations by using matnx inversion method 08
2x ~ Sy +3z =-19
Tx+2y+o6z=1
ax + Sy +4z = 11

P.T.O. -




Q..

Q.5.

Q.6.

- ~
a Prove that -
sin{A-8) sinf{8-~C) sin{C-A) = 0
COSA.Cos B cosB.cosC cosC.cos A
b. Prove that
” b 1
0520 °cos40°c0s60°c0s80° = ™y
OR
¢. Prove that
5in8+s5in26+sin38
cost+c0s20+cos538 tan 26

dIf A+B+C= 1807, then prove that

>

) . . . A . B _C
sind + sinB - sinC =4sm;sm;coS;

4

?

a By using product rule, find

f y=(1+vx+x) (2-22+7x)

. . d
b. By using quotient rule, find é
if vy = Yxtlogx
1+x3

¢. Differentiate -

d. By using quotient rule, find %,

i_f y= X£0sXx
© (2x+1)sinx
a. Evaluate :

OR

xe*cosx with respect to x

Jx+ ‘71_19(\5— V/—l;)dx

b. Evaluate :
I 2x+3
X3+ x+1
c. Evaluate :
[ sin9x. sin11x dx
d. Evaluate :

dx
f 3x2-4x-5

OR

a. Solve the following simultaneous linear equations

5x =3y = =30

2x+4y= 70

b. Prove that the points A (3, 4), B (9, 8), C (5, 2)and D (-1, -2)

are vertices of a Rhombus.
OR

c. Prove that the points A (1, 1), B (-2, 7) and C (3, -3) are collinear.

d. Find the missing frequency in the following distribution 1fN is 100 and median is 32

CI|0-10[10-20

——

f 10 f

2

S0-60 I Total
0 100

~~000--

a3

08

03

0d

08

M4



. INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY '
‘.“ RGARHFULIA GUWAHATI JODHPLR SALEM VARANASECHAMPA KANNURKHTI GADAG/SPKMITHTVENKATGIRI

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
FIRST SEMESTER (OLD SYLLABUS BACK PAPER) EXAMINATION - NOV./DEC.-2016

1.2 APPLIED MATHEMATICS
Time: 3 Hours

QL PART - A

Answer the following questions
4 7 6
-2 0 -1
1 4 2

Max. Marks: 80

02x10=20

2. In the determinant . what is the cofactor of 0 7 y

b. Find the value of x, v,z and t from the following equations.
[ X 3x - .v] _ [3 2]
2x -1 3y -t 5 7

. 1-tan?1s®
¢. Find the valueof : ———
1+tan?15®

d. Express the sum (or) difference of the given expressions :  ¢0s 7x cos Sx

dy »
eFind X, jfy=i-1
X X

d
f. Find = . U y=e¥sinx
dx
g. Integrate [( sec2xtan 2x) dx

h. Evaluate: ff(4x3 - Sx¥)dx

1. Find the solution of the equations : 2x+y=4 andIx-y=0

). Find the median of the data 4,56,7.6,2 3,8

PART -B

Q.2.  Answer following questions. .
4 -3 -1
a. For what value of “p’ is the matrix [2 4 6

lsmgular.
3 p -4

b.  Prove that
a‘+1 ab ac
ba bt +1 be
ca ch cf+1

=1+a? +b? + ¢

08

OR
a h al rx
¢. Find the value of [x v 2z1th b f lyl

g f c]lz

d. Solve the following equations by using CRAMER’S Rule 08
x+2y+3z =6
Axtdy+z =7
IX+2y+9z= 14

P.T.O.



. - __Z‘_ A ~

Q3. a2 FA-B=45" thenprovethat  (cotd — 1){cotB - 1) =2

b Provethat sin20°sin40%sin60%sin80° =

o
|

OR

1-cos 36
1—<osé

c. Prove thar =(1+ 2cos8)?

& If A-B-C=1%0° then prove tzat cos?A - cos?B-cos*C= 1 - 2smAsimBeosC

- ) e i o - . g Y
QA. 2. By using product rule. indc—z . i y=(2x? - 3)(vx +1)logx
) . . XCosx
b. By using quotient rule, :::xi—i 0 Y T e

dy :
cFnd—=. if y = e¥*logxsiz3x

e‘J'.e (secx)
d Dnhiferennate —%—— Ww.r.1wo 'x’.

Qs 2. Evaluate:
I smx d_x

1-sinx

b. Evaluare:

! dx

x?-3x-4

OR
c. Evaluate:
[ e?* sinx dx

d Ewvzluate:
4x-3
—dx
Izz- 3x+8
6. 2. Solve the following simultaneous linear equanons
Q oz )
5x+7y = 30

—-3x+ 10y = -18

b Provethatthepoints A(1,2), B(5,4),C(3,8)and D (-1, 6) are the verticesof a square
OR

c. Prove that the pounts A (2. 0), B(11, 6) and C (4, 1) are collinear.

d The frequency distnbution given below shows the heights of 60 students of a class.

If mean of the data is 157, Find the missing frequencies x and v

Height(inem)  144-143  143-152 152-156 ' 156-160 | 160-164  164-168 | Total
Number of students X 8 13 '

~a

16 | 6 @ 6

08

03



INDIAN INSTIFUTE OF HANDLOOM TECHNOLOGY
BARGARI/GUWAHATUULIAJODHPUR/SALEMIVARANASYCHAMP AL ANNUR/KHTT GADAGISFEM
VENKATAGIH
DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
ANNUAL EXAMINATION APRIL/MAY-2017 (2014-REGULATION)

Time ;3 Hours Max. Marks : 8
FIRST YEAR 1.2 APPLIED MATHEMATICS

Part - A
10 x 2=20 Marks

1 , 5
Solve lll "| ]
3 x
o) - . -
=~ . 2 3 1 | 2 [ -
I A B Find A -2B
0 -1 5 01 3
3 5 . o530 1 sinoo”
Find the value of ———— ,
14 cos60 4 5in 30
i ve . LInAaA = tan 3A
! Find the value of *'———-'—-—-
J4tan4Atan 3A
. , . {
S If'=5sinx — ™+ logx, find %
[¢

6 Differentiate log (x* 4 1) with respect to x

7 Evaluate : [ sec2x tan 2x dx

8  Integrate: [(x° 4 x* + 2 ) dx

9 IFind the Median of the observation 4,7, 3, 6, 8,5, 9

10 Let A(3,-2)and B(6,2)then find |AI£|

PART-B 12 x 5= 60 Marks
11 A) [ 4)
11) A.Showthat [a b c|=(a-b)(h-c) (a-b)a+hb+c)
a b’
3) 13. Solve the following using Cramer'srule @ x + y+z=3,2x-y (8)
+z=2,3x+2y-2z=3
(Or)
C) 12 2 , )
C.IfA=|2 1 2]|.Provethat A> = 4A=51=0
2 21
D) 1 2 3
D. Find the inverse of matrix {2 1 4 (8)
1 0 2
12 A) Prove that sin (45 + A) sin (45 - a) = C”‘;M )



B) IfA+B+C=180"Prove that Cot A.Cot B+ CotB. Cot C + Cot C. (8)

CotA=1
(Or)
C) If(A+B) =45"  Provethat(1+tan A)(1+tanB)= 45 4
D) Prove that Sin 20 Sin 40 Sin 60 Sin 80 ~ = (8)
A)  Differentiate y = e¥logx with respect to x C)
B) dy V-1 (8
Find 2. ° When y = N with respect to x
(Or)
O M y= o thenfind 2 )
D) Differentiate , e X with respect to x ®)
1-sinx
A)  Evaluate [(4 x* = 5x% + 6 x)dx S)
B ) cos x 8)
) E\aluatef3+5smxdx {
_ (Or)
C)  Evaluate : [ ——dx 4
ax2-9
D) Evaluate - f——,idx 8
X< +4x -3
A)  Solve the following simultaneous linear equations )
8x+5y=9,3x+2y=4
B)  Show that the points (2, 2), (8, 4), (5, 7) and (-1, 1) are the verities of a 8
rectangle.
(Or)
C)  Find the value of "a" Sothatthe points( 1,4),(2,7).(3.a) are )
collinear
D)  Find the mean of the following grouped frequency distribution : &
‘Marl-;s 0-20 [ 20-40 | 40-60 [ 60-80 | 80-100 |
! | -
Number of 7 11 100 ¢ 9 | 13 |
Students ‘ ] |
L | i

EEFFAXRRERRERNRRER



INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY
BARGARH/GUWAHATIFULIAJODHPUR/SALEM/Y ARANASICHAMPA/K ANNUR/KHTi-GADG/SPRM-LIHT-VENKATAGIRI

DIPLOMA IN HANDLOOM AND TEXTILE TECHNOLCGY
ANNUAL EXAMINATION - April / May - 2018
(Regulatior 2014)

Year / Semester: 1* Year Time: 3 Hours

Subject Code & Name: 1.2 & Applied Mathematics Max. Marks: 80
PART - A 2X10=20)

Answer the following questions:

L. Eind the value of x | ° ¥ =0

>

ara= 1 ] .e=[%, ] tenfindaB

tan 44 —tan 34
1+tan 44 tan 34

4. Find the value of 3 sin 10° - 4 sin 10°

. Find the value of

L)

5.1fy = x*+ 1find =2
dx
6. Differentiate: 1f y = \/l‘o—s_g;'with respect to x
. Evaluate: [ cos 2x dx
i
8. Evaluate: [ —dx

9. If the arithmetic mean of data 7, 8, x, 11, 14 is 9 then find the value of x
10. Find the median of data 4, 8, 1,5, 6,3,7,2, 10 '

PART -B 5X (4+8)=60
Answer the following questions:
1 a+b a*+b?
11. (a) Show that | 1 b+c b +c?|=(@-b(b-c)(c-a) (4)
1 c+a c?+a
1 1 -1
(b) Find the inverse ofthematrix:| 2 1 0 (8)
-1 2 3
(OK)
T = [ 3] then Show that A (BC) =
() IfA= [2 i ].,B—[3 4] and C [4 _1] en Show that A (BC) = (AB) C. (4)
(d) Solve the equations by using Cramer’s Rule: (8)

4x +y—3z=23,2x+3y—2z= 6, x+y+z=4%



cos( A+B)
COos A cosB

(b)IfA+B=45, Provethat (1 +tanA)(1+tanB)=2,

12. (a) Prove that : =1-—tanAtanB
Hence find the value of tan ( 22 g)

{OR)
(c) Find the value of sin 40° cos 10° - cos 40° s 10°
(d)If A + B + C =180 Prove that Cot A cot B+ Cot B Cot C + Cot C Cot A =1

13.(@1fy=7cosx +9logx — 3x% + x%-i— 1 then find %
(®) Find Zify = (x® — 4)(2x* - 7)
(OR)

(c) Differentiate y = 8 x* — 5x? + 6x — 7 with respect to x.

(d) Find the differentiation of the function ’1-% with respect to x.

1i-

14 (a) Evaluate : ff; dx

(b) Evaluate : |

— dx
1+sinx
(OR)
(c) Evaluate : [ x (x — 1 )%dx

tan'Cx

(d) Evaluate :

cos?x

I5. (a) Solve the following simultaneous equations : 8x + 5y = 9,3x + 2y = 4

(b) Verify that the points (3,0) . (4,5) , (-1, 4) and ( -2,-1) are the vertices of thombus

(OR]
(c) Verify that the points (2,-2), (-3, 8) and (-1, 4) are collinear.
(d) Find the mean of the following grouped frequency distributions:

Marks 0-20 | 20-40 | 40 -60 | 60 —80 | 80 -100

Number of Students 5 8 6 15

#oofok g 4ok

{4)

(8)

(4)
(8)

4)
(8)

4
®)
4

Q)
®)
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DIPLOMA N HANDLOOM AND 11X 1104 15g HNEA LAY
SEMESTER EXAMINATION . April / May - 2018
(Regulation 2011

Yeur/ Semester: 1 Semester Time: 3 Howrs
Subject Code & Name: 1.2 & Applied Mathematics Max. Marks: %
PART - A Z2X 1929

Answer the following questions:

l. Solve '; ﬁl |

~J

f A [: }]B ,f “‘5‘] Find A - 2B

3. Find the value of | - 2 sin?(22 %)

o

. Find the value of sin 75°

=yt sod 4
S5.If y=x Sx,hnddx
. Find %!f y=vIx+1
. Evaluate: [ 5x*dx

. Integrate: [ Cos 4x dx
9. Find the Mode of the observation 5,3,4,8,4,3,4,8,2,6

=)

oe

10.17 A (3, -2) and B (6, 2) then find distance between A and B

PART - B SX4+-8)=68
Answer the following questions:
I 1 1
Il.(a) Showthat |x p z[=(x-y)y-2z)(z-x) 4
x? yZ 22
(b) Solve the following using Cramer’s rule: x + y+z=3,2x-y+z=23x2y2z=3 (%)
(OR)
(c)lfA=[§ ﬂ , B :B ﬁ ,Provethat (A+ B)T = AT + BT 4}
2 =5 3
(d) Find the inverse of matrix [7 2 6] 1]
4 5 4



12 (ay bind the value of Cos 75 Cog 1S - Sin 75 Sin 15

A B O 180 Provethat Cot ACOl B« CoaBCatC - Cott Cant A - | (K
HELY!
2 G Sim3A SmA ,
(¢} Show that o A o Cot 2A ih)
{d) Prove that Cos 3x = 4 cos *x -~ 3Cos x (%)
13, (a) Differentiate v = ¢’ !ogx with respect to x i4;
(h) l*md 2z .when y = T.—? with respect to ¥ (%
(OR)
(€)1 y = —— then find 2 (4)
(d) Differentiate, 2 with respect to x (%)
14 (a) Evaluate [(e* + 5 )dx i4)
(b) Evalyate: {1 + Sin 2x dx (%)
{OR)
(c) Evaluate: f S dx (4)
COs x
(d) Fvaluatcfhsm dx (%)
15. (a) Solve the following simultaneous equations : 8 x + 6 y=56,8x—-6y=8 (4)
{b) Show that the points (2 ,-2).(8.4),(5,7)and (-1, | ) are vertices of a rectangle. (%)

(OR)

' Marks C0-10 1 10-20
guzumtm of Students i 7

ORI TS

T
10 s 8 1 1o
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